Newton’s laws of motion
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Newton's laws of mation:
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Cueston (D

A car travels on the road with a constant velocity. (a) What is the horizontal net force acting on t
car? (b) What is the acceleration on the car? (c) If the frictional force acting on the car is 1500N,

what force is applied to the car by the engine?
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A force of 300N is applied across a 20Kg box. The frictional force acting on the box is 200N. (a
What is the net horizontal force on the box? (b) Calculate the acceleration of the box. (¢) How far

will the box travel after 12 seconds if it continues tolaccelerate at this rate starting from rest?
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A 8kg object speeds up from 20 m/s to 50 m/s in 6 seconds. (a) What is the acceleration? (b)
What is the net horizontal force acting on the object? (c) If the frictional force is 35N, what is the

applied force on the object?
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An 80kg astronaut in space throws a 2kg package with an acceleration of +4m/s”2. (a) What forc@
did the astronaut exert on the package? (b) What force does the package exert on the astronaut?
(¢) What is the acceleration of the astronaut?
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A 120kg skater pushes against an 80kg skater. After contact, the 80kg skater was given an (i )
acceleration of 15 m/s"2. (a) What is the acceleration of the 120kg skater? (b) What force was

exerted on each skater?



